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0
10.000,00
30.000,00

10.000,00 —— > 0%

—> 30.000,00 ——— > 20%

Supérieur a

Abattement mensuel :

si 40% de I'IRG est supérieur a 1.000,00 et inférieur a 1.500,00 on prend les 40% comme abattement

si 40% de I'lRG < 1.000,00 abattement = 1.000,00
si 40% de I'lRG > 1.500,00 abattement = 1.500,00

Poste n°1 et n°2 :

120.000,00 —— > 30%
120.000,00 ——— > 35%

Calcul de I'l RG

Salaire imposable = 18.380,00 - 10.000,00 = 8.380,00 x 20% = 1.676,00
Abattement = 40% x 1.676,00 = 670,40 < 1.000,00
IRG =1.676,00 - 1.000,00 = 676,00

Poste n°3 :

Salaire imposable = 27.346,67 - 10.000,00 = 17.346,67 x 20% = 3.469,33
Abattement = 40% x 3.469,33 = 1.387,73 (1.000,00 < 1.387,73 < 1.500,00)
IRG = 3.469,33 - 1.387,73 = 2.081,60




Poste n°4 :

Salaire imposable = 29.300,00 - 10.000,00 = 19.300,00 x 20% = 3.860,00
Abattement = 40% x 3.860,00 = 1.544,00 > 1.500,00

IRG = 3.860,00 - 1.500,00 = 2.360,00

Poste n°5 :
Salaire imposable = 43.860,00

(0 -10.000,00) X 0% = 0 +
(30.000,00 - 10.000,00) x 20% = 4.000,00
(43.860,00 - 30.000,00) x 30% = 4.158,00 +
= 8.158,00
Abattement = 40% x 8.158,00 = 3.263,20 > 1.500,00
IRG = 8.158,00 - 1.500,00 = 6.658,00
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